| Il Lighting

e
.‘I\‘
. z .
\"}\\:\ -
R ;
3 i |

o
e
-~

f

T

-

==

S=RETTA

3==TTA



Component 02
and system The company

04
] Services

and processes

14

Examples of
suspension Kits

18

Finishes

22

Cables

26

Griplocks

56

Ceiling attachments
and screw caps

Summary table

— of griplocks
==
—

SZRETTA



page 02

Beretta turns
on the lights

e —
——me

Revision:
2022.001

Since 1948 the cables that make sure your bicycles brake, provide sup-
port to the strollers of your children, and allow your cars to run have had
a name. A name that perhaps the consumer public doesn't know, but
that for many companies represents a precious partner, able to meet
their needs and solve their problems.

It's , the company that for seventy years has designed and ma-
nufactured bowden cables, steel cables, flexible transmissions, metallic
sheaths and push-pull systems. Year after year, thanks to its manufactu-
ring expertise and cutting-edge technology, the company has been able
to win the confidence of an increasing number of clients, growing to
become the Italian leader in its sector. Beretta now supplies its cables
to numerous companies in a wide variety of sectors: automotive, aero-
nautic, healthcare, gardening, early childhood, earth-moving machinery.

And then,

The experience gained led Beretta to also expand its business to the pro-
duction of cables and components for lighting systems: alongside a bro-
ad range of standard products, the company offers special tailor-made

components, designed in collaboration with its clients. And it's precisely

this close-knit relationship between the company and its customers, the
ability to design side by side the most suitable solutions and to respond
promptly to requests, which represents Beretta’s real competitive edge.

Functionality and design. Quality and aesthetics. Safety in suspension
and beauty in components. Beretta cables are a sign of care for your
products and your customers.




The added value of Beretta
is already apparent at the
start up stage: we have
developed our greatest
synergies with our clients
when we have been allowed
to contribute to the initial
product concept.

Our technicians work
alongside the client
contributing their precision
and expertise to work on
the project as co-designers.

For Beretta, logistics means
being able to have the right
product arrive in the right
quantities, packaged right,
at the right time and right
price.

Beretta has invested time
and resources in this kind
of logistics. Today, this is all
part of Beretta's know-how -
and our customers know it.

Zamak die casting is the
standard technology used
by Beretta for nipples on
metal cables.

Together with the precision
and total reliability of the
cable manufacturing,

this technology ensures
optimum performance

in our finished products.

Services and processes

Design, project development,
industrialization,
manufacture and logistics
are services Beretta is
ideally qualified to offer.

Plastic injection moulding
and overmoulding

Since 2002 Beretta has
acquired skills and resources
in the area of plastic
injection moulding applied
to particular high end
techniques: both moulding
of individual components
as well overmoulding on
casings and metal cables.
These are now routine
processes in continual
evolution.

page 05

Laboratory Tests

In recent years, Beretta has
made considerable investments
in its laboratories.

Currently, our laboratory is
equipped with cutting edge
equipment for carrying out all
the major tests on our products:
durability and efficiency tests,
traction tests, durometer tests,
fatigue tests, corrosion tests,
thermal cycles, etc.

We have external laboratories
to carry out particular tests to
cover the requests which come
from more specialist industries.















page 14

Examples of \
suspension kits

_ \I\x
i
e
b
w



page 16 Examples of suspension kits_

page 17

with height adjustment l

at the ceiling.
o
T T
R

‘ , Suspension system

2

fﬂ -
“Mh_f‘ﬂdﬂgrgf - f’
S0 =g

¥

Packaged kits Box

Every kit can be Suspension kits ready
customized with barcode for packaging and
and customer logo. installation.

Examples of suspension

KIT 501

KIT 502 = KIT 503

LT 2010.1002 I LT 2036.1002

£
—_——

3

i LT 2035.1002
1 Suspension system
' i R0 U LT 1010.1002 £ LT 3020.1002
= close to the light fixture. i "D
[ .
- Stainless steel cable
/ @1.2x19 mm
| lenght 3,000 mm
/ | + nipple 4x4 mm
[ ' Stainless steel cable Stainless steel cable
@1.2x19 mm @1.2x19 mm

lenght 3,000 mm

lenght 3,000 mm

LT 1083.0502 +nipple 4x4 mm ﬁL + nipple 4x4 mm
Stainless steel cable
@1.2x19 mm o
lenght 480 mm g] LT 1015.1002
+ nipple 4x4 mm ) \ 1
| ¢ T’ MP50072
M10 x 1 Nut




page 18

Finishes




page 20

o Ty

.

=

L A

e

\
\
\
\
]
i
A
y
|
\
\
\
A s
ln
i

R

page 21

01 02 03 04

Nickel Chrome Black chrome Gold chrome
plated plated plated plated
Finishes

Different component surface finishes are available upon request.

Each catalogue product can be produced with eight different finishes, according to
the material and treatment desired. The finish is identified by the last two figures
in the product code.

05 06 07 08

Pink satin Satin White Black
finish finish finish finish



page 22

Cables

e e D e



I page 24

Cro=
(& ___
O=
>
(o

Li[: -L"!E'ﬂnuﬁﬂﬂin Uuégé

Cables

A
%00
65 ey e
' = “‘il..
0.6 —— ;;: ""-;',%
e = o
= %
Z %
Z Z 7
Z #
08 —— N 7 Galvanized 7
. - -“‘*«. Y ,,%:‘ steel ,5
. " "t'.‘. ;»-:
1||!. 5—
1 0 R, rhm‘*‘v.n. .gr‘f:—! ,.#TO
° '\\\\““\\\m\m\wc\ e i "‘"\\\\ﬁ‘{ﬁ =
' Stosaneg ... : Rl T
@ R yﬁ};{ff#’ ﬁfil e / ”Il ”ﬂ' . ;:1\\\? g Mo, ’;}’J‘;ﬁ:’
Diameter 1 2 ' ,,Wm'f'f”" i M’ i ﬂf ,«/ [ﬂ __q?-;a \«\\M o
. S il e ffmﬂ NHH ﬂ F {1"[( K
1 = /i
" o "
i i rl"“ 1’” Z X Y
. B it i il 1l Z : Z
””fll ﬂll IIH . Stainlesssteel  ~
P 4,;, AISI304 :
il el bg! h AISI316 £
2.0 ™ # ! Ill Y £
’ ”l 'l 49 P'h =
H” ||I Wy -
il f ﬂ’” “ I | .
2.5 P it il (! 4
///ﬂ””

L
3.0 P h

Minimum wire rope breaking load

Wire rope Stainless Galvanized
diameter steel steel

0.6 40 kgf /
0.8 50 kgf 60 kgf
1.0 80 kgf 90 kgf
1.2 120 kgf 130 kgf
1.5 180 kgf 200 kgf
2.0 300 kgf 320 kgf
2.5 350 kgf 450 kgf
3.0 600 kgf 750 kgf




Griplocks

page 26




page 28 Griplocks_ page 29

Families of grippers

Central exit

Flanged

Lateral exit Hex. 9 99
Multiple cables (A)

Hinged

Hooks

Rings

N
N
o
3

N

Loop makers

Others

OO |IN([adc|| B ([WIN|=

M8x1 M8x1

LT 1008.0801 LT 1009.0801

@ 10-1.2mm @ 10-1.2mm
Fam. 1 Central exit Fam. 1 Central exit

@12

o7 @10

1 - ,
] ] f 5 17

9 1 10 2|
I o ¢
M8x1
M6x1 Méx1 M10x1

LT 1006.0601 LT 1007.0601 LT 1010.0801 LT 1010.1001

@ 0.6-1.0mm = @ 0.6-1.0mm @ 1.0-1.2mm =5 @ 1.0-1.5mm
Fam. 1 Central exit Fam. 1 Central exit Fam. 1 Central exit Fam. 1 Central exit




page 30 Griplocks_ page 31

810

@15
I 12
| I =
(14) f
) | oo
] LT
3 7*5165 H H 3 & I_I 2]
i i ’ 3 17
o }
E @ M ‘*N 12
M13x1 . 16 M10x1.5

M8x1.25

LT 1019.1001

@ 1.0-1.5mm
Fam. 1 Central exit

LT 1013.1301 LT 1014.0801 LT 1016.1001

@ 1.0-1.5mm
Fam. 2 Flanged

@ 1.0-1.2mm
Fam. 1 Central exit

@ 1.80-2.5mm
Fam. 1 Central exit

312
@10 (@6)
(29 PR - ]
lll} | o 13
| | —— . | l
A | |
2 72 T | 16(5
¢
M5x] M10x1 M13x1
M10x1

LT 1020.1001 LT 1021.1301

@ 1.8-25mm
Fam. 1 Central exit

@ 1.0-1.5mm
Fam. 1 Central exit

LT 1015.0801 LT 1015.1001

@ 1.0-1.5mm

Fam. 1 Central exit

@1.0-1.2mm
Fam. 1 Central exit



page 32 Griplocks_

M8x1

LT 1022.0801

@ 1.0-1.5mm
Fam. 1 Central exit

page 33

: )

I_ 312 |_|
- ” ' | DRI
? ? 12151 | i
3 | 1
= F f
1 F
LT 1031.1001 LT 1050.0801 LT 1052.1001
@ 1.0-1.5mm B @ 1.0-1.5mm == @ 1.0-2.0mm ==
Fam. 1 Central exit Fam. 1 Central exit

Fam. 1 Central exit

@145
©@7)

—]

|~ 00 o e—

M10x1

LT 1032.1001

@ 1.0-1.5mm
Fam. 1 Central exit

1] EE
m L1 ﬂ
- 55
LT 1040.1001 LT 1053.1001 LT 1054.1001
@ 1.0-1.5mm —— @ 1.2-1.8mm — @ 2.0-3.0mm —
Fam. 3 Lateral exit Fam. 1 Central exit

Fam. 3 Lateral exit



page 34 Griplocks_

LT 1055.0601

@ 1.2-1.5mm
Fam. 1 Central exit

@10

(26)

i}
O

M6x1

LT 1060.0601

@ 1.0-1.5mm
Fam. 5 Hinged

24

M6x1

LT 1057.0601

@ 1.0-20mm
Fam. 5 Hinged

210

LT 1061.0601

@1.0-1.5mm
Fam. 1 Central exit

@9
@
|~ oo
§ § * 24
7
I
f
|| M6x1

a5

212

]

LT 1062.0601

@ 1.2-1.8mm

&

M6x1

With 2 female threads: M6x1 and M10x1

Fam. 3 Lateral exit

=5
=l

#3i

LT 1065.0501

@ 1.0-1.5mm
Fam. 3 Lateral exit

Wrench flat
9

210

(6)

K

|00 =

M5x0,8

LT 1064.0001

@ 1.2-1.8mm

Fam. 4 Multiple cables (A)

#
hed

“l
—
ik

LT 1066.1001

@ 1.0-1.5mm
Fam. 5 Hinged

i

=k

25

N

page 35

210

LU

2 (x3)

213

210

(26)

Il (10)
I

@)

M10x1




page 36 Griplocks_ page 37

@
(26)

Il (10

LT 1067.0501 LT1068.0001 LT 1071.0001 LT 1072.0001

@ 1.0-1.5mm @ 1.2-1.5mm @ 0.8-1.5mm @ 1.2-1.5mm
Fam. 5 Hinged Fam. 9 Others Fam. 9 Others Fam. 8 Loop makers
i ' -
=45 (I (1L) :_E ' "Jl]' J,-r'
.. ol \
| \ i
i ',;_ il _ii
7 J | @
LT 1069.0001 LT 1070.0001 LT 1073.0001 LT 1076.0001

@ 1.8-25mm @ 1.0-1.5mm @ 1.0-1.5mm @ 0.6-1.0mm
Fam. 6 Hooks Fam. 6 Hooks Fam. 8 Loop makers Fam. 6 Hooks




page 38 Griplocks_

(26)

i (10)

LT 1078.0501

@ 1.0-1.5mm
Fam. 5 Hinged

@ 1.0-1.5mm
Fam. 5 Hinged

@9

29

{-i
/
]
H@
/#

|- 00 =

[$2]

M3x0,5 M4x0,7

LT 1080.0301

@1.0-1.5mm
Fam. 3 Lateral exit

@1.0-1.5mm
Fam. 3 Lateral exit

LT 1079.1001

LT 1080.0401

29

/h
=

N 275

LT 1080.0501

@ 10-1.5mm
Fam. 3 Lateral exit

29

— -
]

\®\ 285
|" i

(sl

M6x1

LT 1081.0601

@ 1.0-1.5mm
Fam. 3 Lateral exit

page 39

il

LT 1081.0501

@ 1.0-1.5mm
Fam. 3 Lateral exit

LT 1082.0501

@ 1.0-1.5mm
Fam. 4 Multiple cables (A)




page 40 Griplocks_

210

33,5

—— e —

m | M4x0,7

LT 1083.0401

@ 1.0-1.5mm
Fam. 4 Multiple cables (A)

@9
(26)

[——

Is}

| 00 =

32,5

M5x0,8

LT 1085.0501

@1.0-1.5mm
Fam. 3 Lateral exit

@10

(26)

(10)

29,5

-

=N
N
X
o

LT 1084.0401

@ 1.0-1.5mm
Fam. 4 Multiple cables (A)

@9

@4

oy ———

M4x0,7

LT 1086.0401

@ 1.0-1.5mm
Fam. 4 Multiple cables (A)

page 41

29 h

(@6) 29
— B

i (10) - 5
A |

N 111

O ——

Zi *\ M3|
2
M5x0,8 4 76

LT 1089.0001

@ 1.0-1.5mm
Fam. 9 Others

LT 1087.0501

@ 1.0-1.5mm
Fam. 4 Multiple cables (A)

9 29

g

-
f—— A=
©

— ] ——

- N —

w M4x0,7

M5x0,8

LT 1090.0501

@ 1.0-1.2mm
Fam. 1 Central exit

LT 1090.0401

@ 1.0-1.2mm
Fam. 1 Central exit




page 42 Griplocks_

M5x0,8

29

| 0 -=|

LT 1091.0501

@ 1.0-1.5mm
Fam. 1 Central exit

9

@)

(10)

Wrench flat
8

=0 —=

M4x0,7

LT 1092.0401

@1.0-1.5mm
Fam. 3 Lateral exit

M6x1

@9

|~— O I

LT 1091.0601

@ 1.0-1.5mm
Fam. 1 Central exit

LT 1094.0401

@ 0.6-1.0mm
Fam. 4 Multiple cables (A)

<

- > -

M4x0,7

I

LT 1095.0001

@ 1.0-1.5mm

Fam. 4 Multiple cables (A)

LT 1100.0601

@ 1.0-1.5mm

Fam. 3 Lateral exit

@10

\& 435

2 (x4)

13

29

page 43

210

LT 1097.0001

|0 —=|

M6x1

LT

@ 1.0-1.5mm
Fam.

@ 1.0-1.5mm

9 Others

i (10)

|©

M6x1

1102.0601

Fam. 3 Lateral exit



page 44 Griplocks_

a7

I
S
T \I‘I

=

M4x0,7

LT 1103.0401

@ 06-1.0mm
Fam. 3 Lateral exit

@16

(28)

| o>

S

_M13x1_

LT 1115.1301

@ 1.8-25mm
Fam. 1 Central exit

212
(26)

]|

L o
i

—— Oy

LT 1115.1001

@ 1.0-1.5mm
Fam. 1 Central exit

216

@10

N
|- 00 =1
f————

Wrench flat
14 -M13x1_|

LT 1120.1301

7 1.0-1.5mm
Fam. 1 Central exit

216
(26)

|

}
(10)
il *

R % S

N
|~ 00 =

Wrench flat
14

M10x1

LT 1125.1001

@ 1.0-1.5mm
Fam. 1 Central exit

29

LT1130.0501

@ 1.0-1.5mm
Fam. 3 Lateral exit

page 45
316
@)
!
I (10)
1
1j,5
i
2| 8 L
i
Wrench flat
" M13x1

LT 1125.1301

@ 1.0-1.5mm
Fam. 1 Central exit

& LS
% 29
F :
04\
24,5
4ﬁ$
e / M4x0,T7
r 22

LT 1140.0401

@ 1.0-1.5mm
Fam. 4 Multiple cables (A)




page 46 Griplocks_ page 47

(26)

|
2
I

|

1'2 I/ 190

| i |
LT 1141.0001 LT 1142.0001 LT 1145.0001 LT 1146.0001
@ 1.0-1.5mm @ 1.0-1.5mm — @ 1.0-1.5mm @ 1.0-1.5mm
Fam. 9 Others Fam. 6 Hooks Fam. 9 Others Fam. 6 Hooks

Bﬂ
10

LT 1143.0001 LT 1144.0001 LT 1147.1001 LT 1150.0001
@1.0-1.5mm e @ 1.0-1.5mm = @ 1.0-1.5mm e s @ 1.0-1.5mm e
Fam. 6 Hooks Fam. 6 Hooks Fam. 9 Others Fam. 9 Others



page 48 Griplocks_ page 49

LL 2 2/ o= i?l I f_j %?

LT 1151.0001 LT 1152.0001 LT 1153.1501 LT 1157.0501

@10-1.5mm @ 06-1.2mm @ 1.0-1.5mm @ 1.0-1.5mm
Fam. 5 Hinged Fam. 9 Others Fam. 5 Hinged Fam. 5 Hinged

o0, o0
(@6)
_, | o | o
I
W o Hi ] o) -
= | * —
LT 1153.1001 LT 1153.1301 LT 1161.0601 LT 116211.0001
@ 1.0-1.2mm @ 1.0-1.5mm @ 1.0-1.5mm

@ 06 . 1 0 mm e e ) e e e ==—s
Fam. 5 Hinged Fam. 5 Hinged Fam. 3 Lateral exit Fam. 9 Others




page 50 Griplocks_

216

(28)

LT 1163.0801

@ 1.8-2.5mm
Fam. 4 Multiple cables (A)

LT 1171.0501

@1.0-1.2mm
Fam. 4 Multiple cables (A)

/9;

.

29

M5x0,8

- @10
e | (26)
ey ]
- X I (10)
[

LT 1166.1001

@ 1.0-1.5mm
Fam. 5 Hinged

.

r“

LT 1172.0001

@ 1.0-1.5mm
Fam. 8 Loop makers

a8

=

IN

@10

LT 1176.0001

@ 1.0-1.2mm
Fam. 2 Flanged

a11

18.5

@15

LT 1179.0001

@ 1.5-2.0mm
Fam. 2 Flanged

page 51

LT 1178.0001

@ 1.2-1.5mm
Fam. 2 Flanged

29

17

IN=

@13

LT 1180.0001

@ 1.0-1.2mm
Fam. 2 Flanged




page 52 Griplocks_

@10

6,5

M10x1

LT 1181.1001

@ 1.0-1.5mm

Fam. 3 Lateral exit

|w

214

LT 1184.0001

@ 1.0-1.2mm
Fam. 9 Others

LT 1182.0001

@ 1.0-1.5mm
Fam. 7 Rings

210

|=— O |

M6x1

LT 1185.0601

@1.0-1.5mm
Fam. 3 Lateral exit

page 53

e

n o

| ]
4 i o1 M6X1
by e @17,5
16

LT 1186.0001 LT 1188.0001

@ 1.5-20mm @ 1.0-1.5mm
Fam. 7 Rings Fam. 5 Hinged

@ ? a9

*g 2 - .
% 7]
LT 1200.0601 LT 1261.0601
@ 1.0-1.5mm @ 1.0-1.5mm
Fam. 9 Others Fam. 3 Lateral exit



page 54 Griplocks_

LT 1510.0001

@ 08-1.2mm
Fam. 2 Flanged

LT1018.1007

@ 1.0-1.5mm
Fam. 1 Central exit

LT 5015.1001

@ 1.0-1.5mm
Fam. 4 Multiple cables (A)

LT1018.1008

@ 1.0-1.5mm
Fam. 1 Central exit




page 56

Ceiling attachments
and screw caps



page 58 Ceiling attachments and screw caps_

218 015
5 1‘5 | =

-
1T3
] | |

-
|—— O
[6)]

a2 a2
212

LT 2010.1001 LT 2011.1001

M5x 0,8

216
215 M5x0,8

5
i
=
i

@4

| RS NG

LT 2012.1001 LT 2012.1601

M5x 0,8 M5x 0,8

.

LT 2013.1002

1

LT 2015.1002

leo

page 59

"

M6x1
12

LT 2014.0601

M6 x 1

M10x1
14,5

LT 2020.0602

M6 x 1
M10 x 1



page 60 Ceiling attachments and screw caps_

@3 218

a3 218
a5

o7 | =

M8x1

12,5

LT 2020.0801

LT 2020.1002

M8 x 1 M10 x 1
E o= \i}
= - /X? 23
VA =
LT 2025.1401 LT 2030.0801
M6 x 1 M8 x 1

page 61

%
SR

M7

LT 2030.1001

M10 x 1

16
25

_."' J /@/
iyl

29,5

LT 2035.1002

M10 x 1

B |

LT 2031.0802

M8 x 1
“"-_-..-"" ﬁ
LT 2036.1002

M10 x 1



page 62 Ceiling attachments and screw caps_

216
s 216
@5
b_- F hq:F:f l;l
) /@/ =
/ 295 o
o3
D 10D
2
M10x1
M10x1
212
212
LT 2037.1002 LT 2040.1001
M6 X 1 MT10 x 1
MT10 x 1
@20
o5 216
) e
S ey &= =
26 - 23
| 1
10D 7
Lol 2
2
M10x1
M8x1
212
210

LT 2041.1002

M10 x 1

LT 2042.0802

M6 x 1
M8 x 1

M10x1

@12

LT 2043.1001

M6 x 1
M10 x 1

il .&

M13x1

216

LT 2050.1301

M13 x 1

213

page 63

LT 2044.1001

M10 x 1

_.4'

@20

76,5

M13x1
216

LT 2056.1301

M13 x 1



page 64 Ceiling attachments and screw caps_

320

a7

Wi
x Al m—

M13x1

316

LT 2057.1301

M13x 1

M13x1
16

LT 2059.1301

M13 x 1

@20
M6x1

fi.Cl
| g —

M13x1

16

LT 2058.1301

M6 x 1
M13x 1

316
a5

N

—

- L

il |
|

a2

12

LT 2060.1001

ii
=)
o
N

~ |

LT 2060.1602
M6 x 1
- L
| I 20
] 32,5

LT 2062.1401

M6 x 1

page 65

@22
76,5

[N]

@3

15

LT 2061.1201

6x1 1,5

@2,5 (x3)

a7
16

LT 2063.1201

M6 x 1



page 66 Ceiling attachments and screw caps_

2,5

LT 2065.1201

216

M6x1

N

15

32,5

12

LT 2067.1002

M6 x 1

216

1]
o
N

a2

LT 2066.1002

ti
=)
X
N

D

LT 2068.0601

M6 x 1

F
=)
oy
N

a2

LT 2069.0601

M6 x 1

@15

Q
N

Xe|
N

@13

LT 2073.0801

page 67

@15
36,5 —

‘ 1 20

LT 2071.1202
B
. | N
Ly Ll
2 (x4)

LT 2074.0802



page 69

page 68 Ceiling attachments and screw caps_

=00 |

u=,,“ 3 M8x1
\ 1% T 1}2 16
| ] i A
2 (x3) o mﬁm @2 @2
LT 2075.0802 LT 2091.0001 LT 30170.0801 LT 3010.1001
M8 x1 MT0 X 1

M6 x1

M12x1

M8x1

U

LT 2095.0007 LT 2097.0001 LT 3012.1002 LT 3020.0801
M8 x 1

M6 x1 M12 x 1

@ 6,25 mm

@15
@10




page 70 Ceiling attachments and screw caps_

M10x1

|

@2

loo

12

LT 3020.1001

M10 x 1

M8x1

, “m“.:.
: f
o

. o

@2

@10

LT 3030.0801

M8 x 1

M13x1

loo

17,5

, I
-y

@2

@15

LT 3025.1302

M13x 1

M10x]1

, e
e
ddpra!

loo

24,5

212

LT 3030.1001

M10 x 1

g!’ 8A5 ’
& ——
LT 3040.0802
M13 x 1

(3 "

) 1

216

Wrench flat
14

LT 3040.1301

M13 x 1

page 71
M10x1
;Ei % 1*1
e — |
| @2
312
Wrench flat
9
LT 3040.1002
M10 x 1
M10x1

L
] !
,\_ﬁ — 1*0

a2

@12

LT 3041.1001

M10 x 1



page 72 Ceiling attachments and screw caps_

Summary table of griplocks

M10x1
6
,.-‘%i:‘—h ‘ ‘ é 06 08 1.0 1.2 1.5 1.8
' - — i LT1006.06 Central exit . ° .
LT1007.06 Central exit . ° .
Mex1 LT1008.08 Central exit e .
@15 LT1009.08 Central exit . °
LT1010.08 Central exit . °
LT1010.10 Central exit . . .
LT1013.13 Central exit . ° .
LT 3070,1 001 LT1014.08 Central exit . .
M10 x 1 LT1015.08 Central exit . °
M6 X 1 LT1015.10 Central exit . . .
LT1018.10 Central exit . . .
LT1019.10 Central exit . . .
LT1020.10 Central exit . . .
LT1021.13 Central exit . . °
LT1022.08 Central exit . . .
LT1031.10 Central exit . . .
LT1032.10 Central exit . . .
LT1050.08 Central exit . . .
LT1052.10 Central exit . . . . .
LT1054.10 Central exit . . .
LT1055.06 Central exit . .
LT1061.06 Central exit . . .
LT1090.04 Central exit . .
LT1090.05 Central exit . °
LT1091.05 Central exit . . .
LT1091.06 Central exit . . .
LT1115.10 Central exit . . .
LT1115.13 Central exit . . .
LT1120.13 Central exit . . °
LT1125.10 Central exit . . .
LT1125.13 Central exit . . .
LT1057.06 Hinged ° ° ° ° .
LT1060.06 Hinged . ° .
LT1066.10 Hinged . ° .
LT1067.05 Hinged . ° .

LT1078.05 Hinged ° ° °




06 08 10 12 15 18 20 25 3.0
LT1079.10 Hinged . . °
LT1151.00 Hinged . . °
LT1153.10 Hinged . . .
LT1153.13 Hinged . .
LT1153.15 Hinged . ° °
LT1157.05 Hinged ° . °
LT1166.10 Hinged . ° °
LT1188.00 Hinged . ° °
LT1069.00 Hooks . . °
LT1070.00 Hooks . . .
LT1076.00 Hooks . . .
LT1142.00 Hooks . ° °
LT1143.00 Hooks . ° °
LT1144.00 Hooks ° . .
LT1146.00 Hooks . ° °
LT1072.00 Loop makers . °
LT1073.00 Loop makers ° . °
LT1172.00 Loop makers ° . °
LT1040.10 Lateral exit . . .
LT1053.10 Lateral exit . . .
LT1062.06 Lateral exit . . °
LT1065.05 Lateral exit . . .
LT1080.03 Lateral exit . . .
LT1080.04 Lateral exit . . .
LT1080.05 Lateral exit . . .
LT1081.05 Lateral exit . . .
LT1081.06 Lateral exit . . .
LT1085.05 Lateral exit . . .
LT1092.04 Lateral exit . . .
LT1100.06 Lateral exit . . .
LT1102.06 Lateral exit . . °
LT1103.04 Lateral exit . . .
LT1130.05 Lateral exit . . °
LT1161.06 Lateral exit . . °
LT1181.10 Lateral exit . ° °

06 08 1.0 1.2 15 18 2.0 25 3.0
LT1185.06 Lateral exit . . .
LT1261.06 Lateral exit . . .
LT1064.00 Multiple cables (A) ° ° °
LT1082.05 Multiple cables (A) ° ° °
LT1083.04 Multiple cables (A) o . °
LT1084.04 Multiple cables (A) ° . °
LT1086.04 Multiple cables (A) ° ° °
LT1087.05 Multiple cables (A) ° ° °
LT1094.04 Multiple cables (A) ° ° °
LT1095.00 Multiple cables (A) . ° .
LT1140.04 Multiple cables (A) ° ° °
LT1163.08 Multiple cables (A) ° ° °
LT1171.05 Multiple cables (A) . °
LT5015.10 Multiple cables (A) . . .
LT1016.10 Flanged . . .
LT1176.00 Flanged . °
LT1178.00 Flanged ° °
LT1179.00 Flanged . . °
LT1180.00 Flanged . °
LT1510.00 Flanged . . °
LT1182.00 Rings ° ° °
LT1186.00 Rings . ° °
LT1068.00 Others . .
LT1071.00 Others . . . °
LT1089.00 Others . . °
LT1097.00 Others . . °
LT1141.00 Others . . °
LT1145.00 Others . . °
LT1147.10 Others . . °
LT1150.00 Others . . .
LT1152.00 Others . . . °
LT1162.00 Others . . .
LT1184.00 Others . °
LT1200.06 Others . . .






